
N = 1081
1081 circles in a circle

radius =   0.028362554952
ratio  =  35.257754518199

density  = 0.869593719790
contacts = 1607

 E.SPECHT
09-MAY-2010

N = 1082
1082 circles in a circle

radius =   0.028349742454
ratio  =  35.273689050643

density  = 0.869611944800
contacts = 1558

 E.SPECHT
09-MAY-2010

N = 1083
1083 circles in a circle

radius =   0.028334780637
ratio  =  35.292314869749

density  = 0.869497156617
contacts = 1424

 E.SPECHT
09-MAY-2010

N = 1084
1084 circles in a circle

radius =   0.028307778498
ratio  =  35.325979396573

density  = 0.868642070695
contacts = 1606

 E.SPECHT
09-MAY-2010

N = 1085
1085 circles in a circle

radius =   0.028306043421
ratio  =  35.328144775376

density  = 0.869336822163
contacts = 1752

 E.SPECHT
09-MAY-2010

N = 1086
1086 circles in a circle

radius =   0.028278532178
ratio  =  35.362514351844

density  = 0.868447465018
contacts = 1810

 E.SPECHT
09-MAY-2010

N = 1087
1087 circles in a circle

radius =   0.028268340529
ratio  =  35.375263679138

density  = 0.868620695924
contacts = 1595

 E.SPECHT
09-MAY-2010

N = 1088
1088 circles in a circle

radius =   0.028254015133
ratio  =  35.393199702205

density  = 0.868538835811
contacts = 1584

 E.SPECHT
09-MAY-2010

N = 1089
1089 circles in a circle

radius =   0.028249143599
ratio  =  35.399303220828

density  = 0.869037370248
contacts = 1594

 E.SPECHT
09-MAY-2010

N = 1090
1090 circles in a circle

radius =   0.028259197504
ratio  =  35.386709047251

density  = 0.870454645521
contacts = 2680

 E.SPECHT
07-NOV-2012

N = 1091
1091 circles in a circle

radius =   0.028253773657
ratio  =  35.393502196940

density  = 0.870918816913
contacts = 2774

 E.SPECHT
06-NOV-2012

N = 1092
1092 circles in a circle

radius =   0.028241693061
ratio  =  35.408642032567

density  = 0.870971803848
contacts = 2760

 E.SPECHT
06-NOV-2012


